
 Print of data=parms

Obs Gender Estimate StdErr ProbT

1 Male 0.46347635 0.03324673 <.0001

2 Female 0.35319614 0.03115666 <.0001

 Print of data=fit

Obs gender RSquare RootMSE

1 Male 0.394724 17.91367

2 Female 0.393583 14.83338

 Second Print of data=parms

Obs Gender Estimate StdErr ProbT

1 Male 0.46347635 0.03324673 <.0001

2 Female 0.35319614 0.03115666 <.0001

 Second Print of data=fit

Obs gender RSquare RootMSE

1 Male 0.394724 17.91367

2 Female 0.393583 14.83338

 Print of Result of Merge, data=out

Gender Rsquare Estimate StdErr ProbT RootMSE

Male 0.394724 0.46347635 0.03324673 <.0001 17.91367

Female 0.393583 0.35319614 0.03115666 <.0001 14.83338


